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[image: image2.png]A box contains bags of crisps.
Each bag of crisps weighs 25 grams

Altogether, the bags of crisps inside the box weigh 1 kilogram

How many bags of crisps are inside the box?




[image: image3.png]Here are the rules for a number grid

This number is the sum of the numbers

1y | inthe middle row

20 |*——__ This number isthe product of the nurmbers
inthe middle row;





[image: image4.png]Use the rules to write the missing numbers in these number grids
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The sum of three consecutive odd numbers is 15.

What is their product?
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[image: image6.png]Aligsaw has three different sorts of piece.

Cormer pieces, Edge pieces, Middle pieces,
with 2 straight sides with 1 straight side with 0 straight sides
> U
(@) This jigsaw has 24 pieces Complets the table belowto

altogsther, in 4 rows of 6. show how many of each sort

of piece this jigsaw has

«

Commer pieces:
Edge pieces:
Middle pieces:

Total: 24





[image: image7.png]Look atthis diagram





[image: image8.png]The diagram can help you work out some fraction calculations
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[image: image9.png]Each diagram below was drawn on a square grid
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[image: image10.png]Wite what percentage of each diagram is shaded.
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[image: image12.png]‘The diagram shows some shapes on a 10 by 6 sguare grid





[image: image13.png]Wihich two shapes have the same area as shape A7

Shapes .. and




[image: image14.png]This shape has been made fom two congruent isosceles triangles.

(2
=]

Not drawn accurately

What is the size of angle p?



[image: image44.png]Number of | Numberof | Number of
5p coins 2p coins 1p coins
0 0 8
0 1 6





[image: image15.png]Which two shanes have the same perimeter a5 shape A?

Shapes .. and
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[image: image16.png]35+2 3505 bigger than 3.3 + 2.1 How much bigger?




[image: image17.png]I have a square piece of paper
The diagram shows information

about this square labelled A

Ifold square A in half to

make rectangle B

——B8om—
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[image: image18.png]Area

Perimeter

Square A

cm

cm

Rectangle B

cm

cm





[image: image19.png]Cornplete the table below to show the area and perimeter of each shape




[image: image20.png]Look atthe three expressions below,

8+k

3k

When & = 10, what is the value of each expression?

8+k=

3=
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[image: image21.png]Complete the statements below

When x is

When x is

When x is




[image: image22.png]Look at this equation

3a+20=da+k

Ifa =15, find the value of &




[image: image23.png]Wing | Temperature | Howmuch coider |  Temperature
Strongh | outofthe tfeeis i the tfeels i
wind (€) wind () wind ¢C)
Gale 23 degrees colder -5
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[image: image25.png](a) Addtogether3.7 and65

(b) Subtract5.7 from 15.2

(c) Mutiply 254 by5




[image: image26.png]Car Park

Car Park Charges
15p for 8 minutes

How much does it cost to park for 40 minutes?
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What is the sum of the prime numbers between 2 and 20?

[image: image27.png]‘These rules show haw to get from one number o the next n these.
sequences.

Use the rules to wite the nexttwo numbers in each sequence.

Rule:  Add8

Rule:  Multiply by 3

4 12

Rule:  Divide by 4then add 11

4 12
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[image: image28.png]What do the angles inside a pentagon add up to?




[image: image29.png]The diagram shows part of a black of flats.

There are four fiats on each floor

L E

What are the numbers of the flats on the 10th floor?
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[image: image30.png]A shop sells birthday cards
Each card has a code that shows the price

Code Price of card
A 95p
B £125
c £165
D £195
E £235

Tariq pays for two cards
Both cards have code D on them

Tariq pays with a £10 note
How much change should he get?





[image: image31.png]A spinner has the numbers 1to 4 on it

The probability of spinning a number 4 is 0.1

The probability of spinning a number 1 is 0.6

The probability of spinning a number 2 is the same as
the probability of spinning a number 3

Calculate the probability of spinning a number 3
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[image: image32.png]Here are six number cards.

10

12





[image: image33.png]‘The diagram shows part ofthe patter of tiles on the grid.

y
6
3 A
4
7 A
2
T A
° 2 4 3 [ x

“The co-ordinates of the comer with 3.« on tile number 3 are (6, 6)
What are the co-ordinates ofthe comer with a « on tile number 207
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[image: image34.png](a) How many vertices doesthis 3-D shape have?

~_

(b) A different 3-D shape has 8 vertices
It has 6 faces Each face isthe same.

What is the correct name far this 3-D shape?




[image: image35.png]Put brackets in the calculation to make the answer 50

4+ 5+ 1 x §

Now put brackets in the calculation to make the answer 34
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[image: image36.png]3x10+4=qa

3x10+5=38

cx10+12=52




[image: image37.png]Min is facing west.
She turns clockwise to face north-west.

‘Through how many degress does she tum?

degrees
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[image: image38.png]Museum

entrance fee
£1.20 per person

240 people paidthe entrance fee on Monday

How much money s that altogether?




[image: image39.png]The table shows how much it costs to go to a cinema.

Before 6pm After 6pm
Adult £320 £490
(14 (():rhx‘i‘gder) £250 £350
S(%rg%rr%gre)” £2.95 £4.90

Mrs Jones (aged 35), her daughter (aged 12), her son (aged 10} and a
friend (aged 65) wart to go to the cinema

They are not sure whether to go before 6pm or after 6pm

How much will they save if they go before 6pm?
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[image: image40.png]The diagram shows a rectangle.
Its dimensions are 3a by 56

—5

Write a simplified expression for the perimeter

of this rectangle.



                                                               
[image: image41.png]Choose two of these six cards to

make a fraction that is greater than %but less than 1
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[image: image43.png]There are seven different ways to make 8p with coins. Complete the table to
show the seven ways to make 8p. Two have been done for you.
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When the wind blows it feels colder.


The stronger the wind, the colder it feels.


Fill in the gap in the table below.
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Complete the algebra grid below
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    How much will it cost if they go before 6pm?
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Markers use only:
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What decimal fraction is 25% of one quarter?
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Five friends have their heights measured; the results are listed below.

132cm,  125cm,  118cm,  109cm,  132cm

What is the difference between their modal height and their median height?
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